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(I). som ceds G x DBwewsy 2DDMEHB HOBIB.

(i) y=3x"+4x*—5x3-2x2+x—-6

5 -1
(11) y=;2+1

(i) y=(Bx—4)(5x?+1)
(iv) y=(2x?>-3)>(3x+5)
(v) y=log(4x3— 2x? + 2x)
(vi) y =log(x?—2x + 1)

(vi) y = e3%°~*
(viii) y = (2x2 — 3)e**
(ix) y = cos?(x3® —x)

(x) y=tan(x3+3)3

i 3_2xy+5=0
y y
(i) y*x—x*y+y—x+4=0

(b). som Eeds §nesid x Bswvewrsy @¢dD Vewe 2DWEWST WS,

(i) y=2x*+3x3+5x% —4x

x342

(i)y=e"

(€). vom ueds GnwsId o admcwsy (total differentials).

(i) Z = 2x3 — 7xy + 5y?

(ii) Z = e *"¥+5%

(d). Z = x%y — xy?,x = at?, sv y = 2at 5»® % @E0WBI.
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(3). (a). s> FWedm ey gvesys.
(i). [4x3dx

(). [ 2x(x?—5)%dx
(ii)). [e®*dx

(iv). J(2e* —=)dx
(v). [x%e3*dx

(vi). [x(x?+4)%dx
(vii). [

x2—x+1
(viii). [ sec®x dx

(b). v» eds Bddn ey®EOsT eOBIIB.
(). flz(x3 + 3x)%(x% + 1) dx

(ii). fon sin’x dx
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x2+49

(4). (a). 2O®E»® B WS Yy = Dw alsIm.
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b).y = x—x? o, x gec ewx = 0swx = 2 @50 ®06ees 05 DEODE®
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(6). (2). zo» gedm awn b @?q@z& ecomB 220 QD6 B EeBD QMW CLIWBBIB).

a=3i+2j—4k,and b = 5i — 3j + k.
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(b).Tg =i+ 3j— 2k, 000 b = 4i — 2k 00¢&® c¢mO® COVD Smm eecBmw Ge0wsIs).
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(©).2i —j + 3kesw7i + ] + k coeBm 0d¢ 20¢ § @sinpged DE0dE® etwsIn.
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